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CHAPTER 8 – ACCOUNTING FOR LEASES

8.1 Amortisation is

(a) The wear and tear on the leased asset

(b) The allocation of costs to the periods benefiting from the lease √ 

(c) The amount that the asset could be exchanged for between two parties

(d)  Amounts owed under the lease agreement

8.2 A non-cancellable lease is one that can only be terminated by:

(a)  Both parties

(b) The lessor √
(c) The lessee

(d)  None of these

8.3 The residual value is the:

(a) Amount payable by the lessor to the lessee at the end of the lease

(b) Scrap value at the end of the lease

(c)  Lease commitments

(d) The estimated fair value of the lease at the end of the lease term, based on price levels and market conditions √
8.4  A lease is non-cancellable and the lessee will buy the asset at the end of the lease period. The present value divided by the fair value is 92% and the lease term divided by the useful life is 80%. Is this lease 

(a) An operating lease

(b) A finance lease √
(c) A corporate lease

(d) None of these

8.5 Which item is not correct. Advantages of leasing equipment include:

(a) The freeing of funds for business expansion

(b) The latest technology is available

(c) The asset can be disposed of at the end of the lease term, possibly for a profit √
(d)  Capital is conserved for future needs

8.6 The fair value of a leased asset is $120000. The first payment made was $18000 at the lease start on 1 July 2008 and interest is charged at 13% per annum on 30 June 2009. How much is the balance of the principal owing after the interest is charged?

(a) $  88740 √
(b) $  89000

(c) $104400

(d) $106740

8.7 Accumulated amortisation is shown in the Statement of Financial Position as

(a) A current liability

(b) A current asset

(c) As a deduction from the non-current asset under lease √
(d) None of these

8.8 Which item is not part of an operating lease?

(a) The risks and benefits are retained by the lessee √
(b)  Payments are considered to be rental rather than the recovery of asset costs

(c)  The lease usually can be cancelled

(d)   Normally operating leases are for a shorter term than finance leases.

8.9 A lease commences on 1 July 2007 for $40000 with an initial payment on that day of $5000. The implicit interest rate is 12%. How much interest has been charged for the two years to 30 June 2009?

(a) $7800

(b) $7896 √
(c) $ 8400

(d) $ 9024

8.10 An operating lease is running for a period of 7 months from 15 April 2008 to 15 November 2008 at a total cost of $5425. How much lease expenses, to the nearest dollar, will be included in the financial year ended 30 June 2008?

(a) $1550

(b) $1938 √
(c) $2325

(d) $2713
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